
1

LNB

No. Image Description Qty.

1 M6 x 20mm bolts for LNB holder 2

2 M6 x 12mm bolts for swivel 
bracket/LNB holder 5

3 PVC LNB arm inserts 2

4 M6 x 30mm bolts for LNB arm 2

5 M6 x 16mm bolts for dish fixing 4

6 M6 flange nuts for dish bracket 4

7 Washers 9

8 M6 x 55mm bolts for mast clamp 2

9 M6 x 50mm expansion bolts 4

10 PVC cap for wall mount arm 1

11 45cm satellite dish 1

12 Dish bracket 1

13 LNB arm 1

14 Mast bracket 1

15 Mast clamp 1

16 Upper part 40mm LNB holder 1

17 Lower part 40mm LNB holder 1

18 Wall mount arm Ø32mm 1

19 M6 nuts for LNB holder 2



2



3












